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DOWEL PINS

(® {142 dimensions are values for reference only. The actual values at the outer diameter grinding process may be larger than the catalog values.

Catalog No.

b Type D

L

Baseunt prieg

Volume discount unit price

1~99 pcs.

100~499 |500~1999 [2000~4000

f==)
|

1

10

=le
=2}
| o)

1.5

10

10 15

2

o)
©o| Co| ©0| 0|

20

2.5

10 15 20

25 30

10 15 20

68

25 30 35

40

10 15 20

25 30 35

40

45 50

10 15 20

25 30

MS

35

40

45 50

15 20

25 30

10

35

40

45 50 55 60

)
o
o | o || &
oo

30

40

N
(5l

10 15 20

25 35

45 55 60 65 70 80

10

40

60

)
o

15 20

25 30 35

45 65 70 80

12

40

95
50 60

2
w

20

25 30 35

45 95 70 80

13

40

50 60

30

70 80

) -
W £ 4
VIS (Straight type)
: /
/15
R=p j ] ss
&
L
[ suJ2
[ 58HRC~
VISV (High precision type)
: /
Y 15°
A 5
el b
L
@@ SuJ2
[ 58HRC~

MISTP (Tapped precision type)
R0.1~02 u & MXP  Air vent

Catalog No.
Type

Base unit price

Volume discount unit price

1~99 pcs.

100~499 | 500~1999 2000~4000

©0| O0|
|
=]

MSV

[
=)
C)

Juotation |

co|o|wllds|wir| o

30 40

10

30 40 50 60

(®The high-precision dowel pins are measured in a constant temperature chamber.
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D=5, then £="6 is a value for reference only. (® = Only if D=6 and L=10, then £=6.
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@® = If D=5, then £="6 is a value for reference only. (® = Only if D=6 and L=10, then £=6.



